Complete the Transport Practice Sheet.
1. Highlight the word OSMOSIS in BLUE:  Osmosis is water passing from hi to lo conc. through a membrane.

2. Highlight the word DIFFUSION in YELLOW
3. Highlight the words ACTIVE TRANSPORT in PINK OR RED
4. Label the solute and solvent percentages right on the picture. Assess whether the solution in which the cell is placed is 

HYPERTONIC:  Higher conc. of solute outside the cell, Arrow out to show water movement
HYPOTONIC:  Lower conc. of solute outside the cell, Arrow in to show water movement
ISOTONIC:  The SAME conc. of solute inside and outside the cell, no arrows even though there is still slight movement, no net change

OSMOSIS – where does the water go?  With the gradient – more to less
The “e” in hyper means that the water will exit the cell because hyper means more so there is more “tonic”/solute, (honestly, it is because there is a higher conc. of water in the cell when compared to outside so the water goes from where there is more to where there is less).  When a cell is placed in a hypertonic soln the water will rush out of the cell faster than it goes in (trying to get to equilibrium).  The cell will shrivel (plant cell will wilt – lose turgor pressure).
A cell placed in a hypotonic soln will expand like the “o” in hypo because the water will rush in faster. There is less solute in the solution around the cell.
Isotonic solutions are at equilibrium already so the particles will continue to move, but VERY slowly with no net change in conc.

DIFFUSION – where does the solute go?  With the gradient – more to less
Compare the solute inside the cell to the solute outside the cell.  The solute particles will go from where there are more to where there are less.

A cell placed in a hypertonic solution will gain solute particles.  Arrow in.

A cell placed in a hypotonic solution will lose solute particles.  Arrow out.

A cell placed in an isotonic solution will stay the same, no net change in solute particles.
ACTIVE TRANSPORT – MUST HAVE ENERGY! – Where do the solute particles go? Against the gradient (swim upstream).

A cell in a hypertonic solution will lose solute particles. Arrow out from less conc to more 

A cell in hypotonic solutions gain solute particles. Arrow in from less conc to more 

Again the Isotonic Solution is at equilibrium so the exchange is super slow and no net difference.
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